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Instructions for Candidates

1.  Write your Roll No. on the tep immediately on receipt
of this question paper.

2.  Answer any one question (15 marks) from Section
A and any three questions (20 marks each) from
Section B.

3. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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Section A (15 marks each) — Answer any one.
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Discuss the relationship between the material base
and the superstructure in Marx’s analysis of social
transformation. What is meant by the term “primacy
of the base™; does this imply a one way deterministic
relationship between the economic and the non-

economic structures?
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9.

10.

Do you think that the capitalist economic system
can survive on its own autonomously without any

intervention or backing by the state? Discuss.
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“The fact that (perfect) competition is not compatible
with modern, technologically advanced production is
by no means tantamount to the proposition that
monopoly is a rational framework for development of
productive forces.” Elucidate the above statement of
Paul Baran. Does this mean that Baran preferred

perfect competition to monopoly?
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Derive the equation on which the “law of the falling
tendency in the rate of profit” is established. Explain
the working of this law and how it forms the basis for

a necessity theory of crisis in capitalism.
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Discuss with reasons what Kalecki meant by “political
opposition to full employment”™ and “political business
cycles”. Explain why the term “political” is used to

describe the above.
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Explain the following terms and discuss their role
in contemporary capitalist dynamics and crisis:
(1) accumulation by dispossession and (ii) fictitious

capital.
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Analyse the nature of contemporary finance capital
and compare it with finance capital that Lenin
conceptualised in his work on imperialism. Discuss
the consequences of financial globalization for the third

world.
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Section B (20 marks each) — Answer any three.
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Explain the centrality of M-C-M’ circuit in capitalism
in the context of (a) the manner in which the system
organises and disciplines social activities and (b) the
internal logic (internal dynamics) of the capitalist

system.
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“The problem that is usually being visualised is
how capitalism administers existing structures, whereas

the relevant problem is how it creates and destroys
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them.” Elucidate the above statement of Schumpeter
in the context of his critique of neoclassical economic
theory and his subsequent defence of monopoly

capitalism.
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What insights and understanding is provided by Irfan
Habib in his analysis of the transition to capitalism in

Western Europe?
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